ONLINE SERVICES FILING RECORD:

State of California CALIFORNIA DEPARTMENT OF TAX AND FEE ADMINISTRATION



Taxpayer Name: TRUE TRADE INC

Account Type: IFTA Carrier Tax Return Type: Original

 Account Number:
 259-839264

 Period Begin:
 April 01, 2024

 Period End:
 June 30, 2024

 Due Date:
 July 31, 2024

 Remaining Due:
 \$50.00

Summary							
1. Subtotal Amount Due or Credit	\$0.00						
2. Penalty	\$50.00						
3. Interest	\$0.00						
4. TOTAL BALANCE DUE OR CREDIT	\$50.00						

Account Number:259-839264Filing Period:June 30, 2024

Jurisdiction Summary												
Jurisdiction	Surcharge	Fuel Type	Total Miles	Taxable Miles	MPG	Taxable Gal	Tax Paid Gal	Net Taxable Gal	Rate	Тах	Interest	Total
California		2. Diesel	17,575	17,575	7.04	2,496	2,496	0	1.0890	\$0.00	\$0.00	\$0.00
			17,575	17,575		2,496	2,496	0		\$0.00	\$0.00	\$0.00

ONLINE SERVICES FILING RECORD:

State of California CALIFORNIA DEPARTMENT OF TAX AND FEE ADMINISTRATION



Taxpayer Name: TRUE TRADE INC

Account Type: IFTA Carrier Tax Return Type: Original

 Account Number:
 259-839264

 Period Begin:
 July 01, 2024

 Period End:
 September 30, 2024

 Due Date:
 October 31, 2024

 Remaining Due:
 \$4.50

Summary								
1. Subtotal Amount Due or Credit	\$4.50							
2. Penalty	\$0.00							
3. Interest	\$0.00							
4. TOTAL BALANCE DUE OR CREDIT	\$4.50							

Account Number:259-839264Filing Period:September 30, 2024

urisdiction Summary												
Jurisdiction	Surcharge	Fuel Type	Total Miles	Taxable Miles	MPG	Taxable Gal	Tax Paid Gal	Net Taxable Gal	Rate	Тах	Interest	Tota
Alabama		2. Diesel	1,802	1,802	6.86	263	0	263	0.3000	\$78.90	\$0.00	\$78.90
Arkansas		2. Diesel	1,685	1,685	6.86	246	0	246	0.2850	\$70.11	\$0.00	\$70.11
Arizona		2. Diesel	5,747	5,747	6.86	838	401	437	0.2600	\$113.62	\$0.00	\$113.62
California		2. Diesel	10,328	10,328	6.86	1,506	1,469	37	1.0230	\$37.85	\$0.00	\$37.85
Florida		2. Diesel	2,025	2,025	6.86	295	373	-78	0.3947	-\$30.79	\$0.00	-\$30.79
Georgia		2. Diesel	197	197	6.86	29	155	-126	0.3620	-\$45.61	\$0.00	-\$45.61
Mississippi		2. Diesel	708	708	6.86	103	0	103	0.1800	\$18.54	\$0.00	\$18.54
New Mexico		2. Diesel	5,972	5,972	6.86	871	183	688	0.2100	\$144.48	\$0.00	\$144.48
Oklahoma		2. Diesel	1,328	1,328	6.86	194	731	-537	0.1900	-\$102.03	\$0.00	-\$102.03
Oregon		2. Diesel	1,969	1,969	6.86	287	642	-355	0.0000	\$0.00	\$0.00	\$0.00
Tennessee		2. Diesel	111	111	6.86	16	0	16	0.2700	\$4.32	\$0.00	\$4.32
Texas		2. Diesel	6,308	6,308	6.86	920	1,107	-187	0.2000	-\$37.40	\$0.00	-\$37.40
Washington		2. Diesel	325	325	6.86	47	548	-501	0.4940	-\$247.49	\$0.00	-\$247.49
			38,505	38,505		5,615	5,609	6		\$4.50	\$0.00	\$4.50

ONLINE SERVICES FILING RECORD: IFTA CARRIER RETURN

State of California CALIFORNIA DEPARTMENT OF TAX AND FEE ADMINISTRATION



Account Number:	259-839264
Period Begin:	October 01, 2024
Period End:	December 31, 2024
Due Date:	January 31, 2025
Remaining Due:	\$149.81

Taxpayer Name:TRUE TRADE INCAccount Type:IFTA Carrier TaxReturn Type:OriginalSubmitted:1/15/2025 5:06:21 PM

Confirmation #: 0-046-480-151

Summary							
1. Subtotal Amount Due or Credit	\$149.81						
2. Penalty	\$0.00						
3. Interest	\$0.00						
4. TOTAL BALANCE DUE OR CREDIT	\$149.81						

Account Number:259-839264Filing Period:December 31, 2024

urisdiction Summary												
Jurisdiction	Surcharge	Fuel Type	Total Miles	Taxable Miles	MPG	Taxable Gal	Tax Paid Gal	Net Taxable Gal	Rate	Тах	Interest	Tota
Alabama		2. Diesel	1,105	1,105	6.84	162	341	-179	0.3000	-\$53.70	\$0.00	-\$53.70
Arkansas		2. Diesel	1,419	1,419	6.84	207	263	-56	0.2850	-\$15.96	\$0.00	-\$15.96
Arizona		2. Diesel	4,989	4,989	6.84	729	1,080	-351	0.2600	-\$91.26	\$0.00	-\$91.26
California		2. Diesel	5,333	5,333	6.84	780	633	147	1.0230	\$150.38	\$0.00	\$150.38
Colorado		2. Diesel	2,018	2,018	6.84	295	149	146	0.2850	\$41.61	\$0.00	\$41.61
Florida		2. Diesel	714	714	6.84	104	0	104	0.3947	\$41.05	\$0.00	\$41.05
Georgia		2. Diesel	928	928	6.84	136	0	136	0.3620	\$49.23	\$0.00	\$49.23
Illinois		2. Diesel	163	163	6.84	24	0	24	0.7570	\$18.17	\$0.00	\$18.17
Kansas		2. Diesel	1,276	1,276	6.84	187	278	-91	0.2600	-\$23.66	\$0.00	-\$23.66
Kentucky		2. Diesel	93	93	6.84	14	0	14	0.2340	\$3.28	\$0.00	\$3.28
Kentucky	Surcharge	2. Diesel	0	0	0.00	14	0	0	0.1120	\$1.57	\$0.00	\$1.57
Louisiana		2. Diesel	384	384	6.84	56	68	-12	0.2000	-\$2.40	\$0.00	-\$2.40
Missouri		2. Diesel	249	249	6.84	36	0	36	0.2700	\$9.72	\$0.00	\$9.72
Mississippi		2. Diesel	826	826	6.84	121	176	-55	0.1800	-\$9.90	\$0.00	-\$9.90
North Carolina		2. Diesel	363	363	6.84	53	97	-44	0.4040	-\$17.78	\$0.00	-\$17.78
New Mexico		2. Diesel	3,102	3,102	6.84	454	923	-469	0.2100	-\$98.49	\$0.00	-\$98.49
Nevada		2. Diesel	1,831	1,831	6.84	268	429	-161	0.2700	-\$43.47	\$0.00	-\$43.47
Oklahoma		2. Diesel	2,100	2,100	6.84	307	103	204	0.1900	\$38.76	\$0.00	\$38.76
South Carolina		2. Diesel	147	147	6.84	21	63	-42	0.2800	-\$11.76	\$0.00	-\$11.76
Tennessee		2. Diesel	713	713	6.84	104	82	22	0.2700	\$5.94	\$0.00	\$5.94
Texas		2. Diesel	8,309	8,309	6.84	1,215	641	574	0.2000	\$114.80	\$0.00	\$114.80
Utah		2. Diesel	1,644	1,644	6.84	240	0	240	0.3650	\$87.60	\$0.00	\$87.60
Wyoming		2. Diesel	1,071	1,071	6.84	157	340	-183	0.2400	-\$43.92	\$0.00	-\$43.92
			38,777	38,777		5,684	5,666	4		\$149.81	\$0.00	\$149.81

ONLINE SERVICES FILING RECORD:

State of California CALIFORNIA DEPARTMENT OF TAX AND FEE ADMINISTRATION



Taxpayer Name: TRUE TRADE INC

Account Type:IFTA Carrier TaxReturn Type:Original

Account Number:	259-839264
Period Begin:	January 01, 2025
Period End:	March 31, 2025
Due Date:	April 30, 2025
Remaining Due:	\$190.77

Summary								
1. Subtotal Amount Due or Credit	\$134.76							
2. Penalty	\$50.00							
3. Interest	\$6.01							
4. TOTAL BALANCE DUE OR CREDIT	\$190.77							

Account Number:259-839264Filing Period:March 31, 2025

urisdiction Summary												
Jurisdiction	Surcharge	Fuel Type	Total Miles	Taxable Miles	MPG	Taxable Gal	Tax Paid Gal	Net Taxable Gal	Rate	Тах	Interest	Total
Alabama		2. Diesel	379	379	6.41	59	276	-217	0.3000	-\$65.10	\$0.00	-\$65.10
Arkansas		2. Diesel	568	568	6.41	89	207	-118	0.2850	-\$33.63	\$0.00	-\$33.63
Arizona		2. Diesel	12,740	12,740	6.41	1,988	3,469	-1,481	0.2600	-\$385.06	\$0.00	-\$385.06
California		2. Diesel	27,933	27,933	6.41	4,358	4,443	-85	1.0230	-\$86.96	\$0.00	-\$86.96
Colorado		2. Diesel	9,851	9,851	6.41	1,537	1,451	86	0.2850	\$24.51	\$0.18	\$24.69
Georgia		2. Diesel	116	116	6.41	18	0	18	0.3710	\$6.68	\$0.05	\$6.73
Mississippi		2. Diesel	236	236	6.41	37	0	37	0.1800	\$6.66	\$0.05	\$6.71
New Mexico		2. Diesel	3,454	3,454	6.41	539	563	-24	0.2100	-\$5.04	\$0.00	-\$5.04
Nevada		2. Diesel	4,017	4,017	6.41	627	758	-131	0.2700	-\$35.37	\$0.00	-\$35.37
Oklahoma		2. Diesel	663	663	6.41	103	142	-39	0.1900	-\$7.41	\$0.00	-\$7.41
Tennessee		2. Diesel	38	38	6.41	6	185	-179	0.2700	-\$48.33	\$0.00	-\$48.33
Texas		2. Diesel	8,143	8,143	6.41	1,270	966	304	0.2000	\$60.80	\$0.46	\$61.26
Utah		2. Diesel	12,367	12,367	6.41	1,929	103	1,826	0.3850	\$703.01	\$5.27	\$708.28
			80,505	80,505		12,560	12,563	-3		\$134.76	\$6.01	\$140.77